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August comte's social philosophy is known 1.

as:

(A) Relativism
(B) Positivism
(C) Idealism
(D) Empiricism

2.
To which school of thought does Emile
Durkheim belong to ?
(A) Synthetic
(B) Formalistic
(C©)  Conflict
(D) Psychoanalysis 3.
The theory of social evalution was given by.
(A) H.Spencer
(B) Darwin
(C) E.Durkheim
(D) F.Enguls 4
In which religious system certain things like
plants animals are regarded as sacred and as
an emblem of the clan ?
(A) Naturism
(B) Animism
(C) Totemism
(D) Fetischesm >
Substantive rationality is related with:
(A) Values
(B) Action
(C) Communication
(D) Interpretation 6

Who has given the classification of social
groups into 'in group' and 'out-group' ?

(A) C.H.Cooley

(B) W.G.Summer

(C) E.B.Taylor

(D) Ginsberg
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10.

11.

12.

Who is associated with the formalistic school
of Sociology ?

(A) Simmel

(B)  Durkheim

(C) Hobhouse

(D) Morrison

Which is not a characteristic of a social
group?

(A) Plurality ofindividuals

(B)  Reciprocity

(C)  Antagonism

(D)  We-feeling

The Latin term 'Socius' means-

(A) Study

(B) Sociology

(C) Companion

(D)  Science

The term 'reference group' was introduced
by:-
(A) M. Sherif

(B) H.M.Johnson

(C) Horton & Hunt

(D) H.Hyman

According to Talcott Parsons, all the units of
asocial systemare -

(A)  Abstract

(B) Concrete

(C)  Tangible

(D)  Explicit

Durkheim argued that a society with
mechanical solidarity is characterized
by law____
(A) Repressive
(B) Restitutive
(C) Formal

(D) noneofthese
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14,

15.

16.

17.

18.

Durkheim sometimes described social facts
as-

(A) "Individual conscience"

(B)  "States on the collective mind"
(C)  "Psychology State"

(D) "Physical State"

Comte was dismissed from-

(A) Harvard university

(B) Oxforduniversity

(C)  Parisuniversity

(D)  Ecolepolytechinique

Marx's education at Berlin university was

shaped by -

(A) Weber

(B) Summel

(C)  Hegel

(D)  Popper

The German word for 'understanding' is:-
(A) Empathy

(B)  Verstehen

(C) DerZeitgeist

(D)  Verboten

Which of the following a basis stratification
according to weber.

(A) Class

(B) Caste

(C) Role

(D) Gender

Murdock hasgiven __types of tertiary kins-
Aa 12

B) 32

© 100

D) 151
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19.

20.

21.

22.

23.

24.

Which is the greatest merit of 'interview' ?
(A) Directresearch

(B) In-depthresearch

(C)  Knowldege ofthe past and future
(D)  noneofthese

Focused interview was used by to

study the socio psychological effects of mass

media on the people

(A) Parsons

(B) Malinowskey

(C) Merton

(D) Brown

Liker Scale was constructed in the year-
(A) 1965

B) 1932

(© 1978

D) 1911

Which sampling technique is a combination
of purposive and random technique ?

(A) Multistage

(B)  Quota

(C)  Stratified

(D) Convenience

"The City" is written by

(A) Marx
(B)  Weber
(C) Comte

(D) RobertE. Park

Marx borrowed Hegel's aliabetic and
feurbach'sideas on

(A)  Opposition

(B)  Alienation

(C)  Continuation

(D)  Paralled
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25.

26.

27.

28.

29.

30.

Who wanted to make Sociology as a general

Science?

(A) Vanwiese
(B) Small

(C) Durkheim
(D) Weber

Who defined sociology as the 'Science of the
structure and function of social life'?

(A) Barmetand Tumin

(B) Kimballyoung

(C) R Linton

(D) Pareto

Who classified sociology in social statics and
social dynamics ?

(A) Cooley

(B) Bottomore

(C) Johnson

(D) Noneofthese

Who has given the concept of 'Risk Society'?
(A) UlrichBeck

(B) A.Giddens

(C)  Sorokin

(D) Harlombos

"Sociology is not just a common sense".

Identity this as-
(A) True
(B) False

(C) Partially true

(D) Noneofthese

Who has given the concept of 'Digital
Society'?

(A) R Linton
(B)  Sumner
(C)  Sorokin

(D) Noneofthese
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31.

32.

33.

34.

35.

36.

"People who practice sociology as called
sociologistis". Who has given this
statement?

(A) Derrida

(B)  Peter Berger

(C) E.Goffman

(D) Schutz
Who has given the concept of 'Total

Environment'.

(A) Marx

(B) Macluer & Page
(C) K.Davis

(D) Ginsbverg

"Society is the web of social statuses”. Who
said this ?

(A) Parsons
(B) Linton
(C)  Johnson

(D) Beirstedt
Which one of the following is not a basis of
ascribed status?

(A) Caste

(B) Gender

(C) Income

(D) Age

Social values are expressed through-
(A) Symbols

(B)  Language

(C) Religion

(D) Caste

The marriage of a lower caste girl with a
higher caste boy is known as-

(A)  hypergamy

(B)  hypogamy

(C) endogamy

(D)  exogamy
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37.

38.

39.

40.

4].

42.

Which among the following is a matrilineal
tribs ?

(A) Munda

(B) Toda

(C) Nayar

(D) Noneofthese

Who gave the phrase,"survival of the

fittest"?
(A)  Spencer

(B) Marx

(C) Morgan

(D) Darwin

Who has given 'technological deterministic
theory of social change'?

(A) Therstien veblem

(B) Ogbum

(C) Tonybee

(D)  Margan

Who among the following has classified the
stages of social evolution as: simple,
compound doubly compound, and trebly
compound ?

(A) L.H.Morgan

(B) E.B.Taylor

(C)  E.Durkheim

(D) H.Spenser

Which among the followings is related to
diffusionistic theory of development?

(A) Comte

(B) Parsons

(C©) Mcclelland
(D) Lemer

Who is the author of the book "Achieving
Society" ?

(A) AD.Ross

(B) E.A Ross

(©)  Gunnar Myrdal

(D) D.Mcclelland
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43.

44.

45.

46.

47.

48.

Conformity implies behaving in accordance

with the -

(A) Groups

(B) Culture

(C) Situations

(D) Norms

The development model of Five year Plan in
India was borrowed from—
(A) USA

(B) Japan

(C) Russia

(D) China

The biological Capacity to reproduce is
called-

(A)  Fertility

(B) Infertility
(C) Mortality
(D)  Fecundity

The rate of natural increase in the human

population is calculated by-

(A) CDR+CBR

(B) CBR-CMR

(C) CBR+CMR

(D) CDR-CBR

Who has given the hierarchy of sciences ?
(A) Weber

(B) Durkheim

(C) Darwin

(D) Comte

In how many classes did Durkheim classitied
social tests:-

Aa 2

B) 3

<€ 4

@ 5
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49.

50.

51.

52.

53.

To which country did Max weber belong to ?
(A) France

B) USA

(C) England

(D) Germany

Who first gave the null hypothesis ?

(A) P.V.young

(B) RonaldFisher

(C)  Fairchild

(D) Elhans

Under the Dayabhag -

(A) There is no coparcenary between a
man and his son (s)

(B) There is comparcenary between a
man and his son (s)

(C) There is coparcenary between a man
and his unmarried (s)

(D)  There is coparcenary between a man
and his married son (5)

As per the central limit theorem, the

distribution of Sample mean follows a

normal distribution even if the population

distributionis -

(A) normal

(B) notnormal

(C) both&these

(D) noneofthese

"Rural sociology is the sociology of life in

the rural environment", Who has given this

definitions ?

(A) Sanderson
(B) Chapin
(C)  Smith

(D)  Noneof the these
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54.

55.

56.

57.

58.

59.

Which of following is not a type of peasant
groups according to K. L. Sharma

(A)  Owner-Cultivator
(B)  Tenant-Cultivator
(C)  Totally poor peasant
(D)  Totallyrich peasant

To curtail the incidents of dowry deaths

which section was introduced into IPC ?

(A) 495A
(B) 498A
(C) 489A
(D) 477A

When is the National Panchayati Raj Diwas

celebrated ?

(A) May29™

B) April24®

(©) July13®

©) Tuly3r™

Green Revolution took place in -
(A) India

(B)  Philippines

(C) Mexico

(D) Allofthese

The highest punishment given to an acceused
by the caste Panchayat is -

(A) excommunication

(B)  deathPenalty

(C) fineofRs-500/-

(D) noneofthese

Habermas points the fundamental distinction
betweenworkand .

(A)  Action

(B) Inaction

(C) Communicative action
(D) Rational action
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60.

61.

62.

63.

64.

65.

"Residues and Derivation" are cental tenets.

(A) Robert Mitchells
(B) \Villfredo Pareto
(C) PaulLazarsfield
(D) Thorstein veblen

"The sense of self is developed in reference
to others. It is known as looking-glass self."
Who said this ?

(A) Mead

(B) MaxWeber

(C)  Schumpeter

(D) C.H.Koole

Gramci saw th capitalist state as being made
upof-

(A) Political society and a civil society
(B) Political society and economy

(C) Civil Society and economy

(D) Noneofthese

Which of the following dimensions of

modernity isnot given by Giddens-

(A) Captalism

(B) Industrialism

(C) Military Power

(D) Noneofthese

Which of following crisis is an identity
crisis-

(A)  Economic crisis

(B) Rationality crisis

(C)  Legitimation crisis

(D) Motivation crisis

In which year was the book the structure of
social Action Published?

(A) 1960

B) 1943

© 1937

D) 1957
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66.

67.

68.

69.

70.

71.

The subparts of whose theory of modemity

include distantiation , power, trustand Risk -

(A) Luhman

(B) Pareto

(C) Mills

(D) Giddens

Who gave the concept of 'reification'?
(A) G.Lukacs

(B) A.Giddens

(C) E.Fromm

(D) Freud

'The structure of scientific Revolution' is
written by -

(A) ThomasKuhn

(B) MaxWeber

(C)  George Simmel

(D) Poulantzas

Derridawasa-

(A)  PostModernist

(B)  NeoFunctionalist

(C)  PostStructuralist

(D) NeoMarxist

Which institution never existed in the Pre-
British India?

(A) Feudalism
(B) Manor

(C) Bank

(D) None ofthese

When was the Brahmo Samaj movement
established?

(A) 1828
(B) 1827
(C) 1829
D) 1817
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72.

73.

74.

75.

75.

71.

Who said that, "tribals should be allowed to
live in isolation"?

(A)  G.S.Ghurye

B) Tumin

(C) V.Eliwin

(D)  Panini

Who has called tribes as backward Hindus?
(A) Louis Dumont

(B) Hutton

(C) Ghurye

(D) Louiswirth

What is the full name of D.P Mukerji?

(A) DhruvPrasad Mukerji

(B)  Dhiraj Prakash Mukerji

(C)  DhiruPrahlad Mukerji

(D) Dhurjati Prasad Mukerji

Which among the following is not a majer
contribution of D.P Muker;ji?

(A)  Personality

(B) Tradition

(C) Modermization

(D) Conflict

According to Hakermas, Lifeworld become
colonised by steering media when four
things happen. Which of the following
condition is not in the list of Habermas?

(A) Traditional forms of life and
dismantled

(B)  Sufficient number of incumbants of
society are motivated

(C) Social rules are sufficiently
differentiated

(D)  There are adequate rewards of leisure

and money for the alienated labour.

Which of the following concept is not a part

of Communicative action according to

Habermas?

(A) Teleological

(B) Normatively regulated
(C) Dramaturgical

(D) Tautological
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78.

79.

80.

81.

82.

83.

What are non - cities?
(A)
(B) Company towns

(C©) AmusementParks

Campuses

(D) Allofthese

Which is the largest slum in Asia?
(A) Dharavi

(B) Bhalswa

(©)  Nochikuppam

(D) Basanti

What does the Ozone Hole refers to ?

(A) HoleinozoneLayer

(B) Decrease in the ozone layer in
troposhere

(C) Decrease in the thickness of ozone

layer in stratosphere
(D) Noneofthese
An open class society is one in which
mobility is-
(A) Low
(B) High
(C) Nomobility
(D) Noneofthese
Which among the following is not a force
affecting migration
(A) Push
(B) Pull
(C) Channel
(D) Employmentopportunities
According to Freud, the Id, the ego and the
super ego are parts of -
(A) Mind
(B)  Personality
(C)  Society
(D)  Significantothers
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84.

85.

86.

87.

88.

89.

According to Mead the 'Self is -

(A) Notthereatbirth

(B)  Develops with social experience
(C) Botharecorrect

(D) Bothare incorrect

Into how many categories have Mclver and
Page divided cooperation into-

@A 5
B 4
© 3
D) 2

Which among the following factors is not a
basis of social stratification according to
Weber?

(A) Caste
B) Class
(C) Status
(D) Power

"Social change may be defined as
modification in ways of doing and thinking
ofpeople.” Who has given this definition?

(A) Davis
(B) Koeing
(C) Lundberg
(D) Jenson

In the Sripuram village, Beteille found that
the whole village was divided into different
castes. Which of the following caste was not

present in the village?
(A) Brahmins

(B) Kshatriyas

(C)  Adi-Dravids
(D) Non & Brahmins

In which category of theories of Social
change you would consider August Comte?

(A)  Evolutionary
(B) Differsionist
(C)  Cyclical

(D) Functional
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90.

91.

92.

93.

94.

9s.

A woman is a daughter, a wife, amotherisan

example of

(A) Roleconflict

(B) RoleSet

(C) Rolebehaviour

(D) Rolestrain

When was "The sexual Harassment of

women at workplace ( Prevention,
Prohibition and Redressal) Act come into
force?

(A) 1935

B) 1948

© 2013

D) 2017

Matrifocal family is headed by -

(A) Maleheadonly

(B) Femaleonly

(C) Bothmaleandfemale

(D) Both male and female, but female

being elder toman
Who has distinguished between hunting and
gathering, societies, pastoral and agrarian,
and non industrial civilizaiton

(A) LeeandNewby
(B) KarlMarx

(©)  A.Giddens

(D) Durkheim

"Marriage is rooted in the family rather than
the family in the marriage". Who has said
this?

(A) Gillinand Gillin
(B) Malinowsky
(C) Lowie

(D) Westermarck

When the wives of a man are sisters, it is
called-

(A)  Sororal Polygyny

(B) Polyandry

(C)  Non Sororal Polygyny
(D)  Fratermal Polyandry
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96.

97.

98.

99.

100.

"The conflict originating in costeism can be
removed by encouraging inter-caste

marriages." Who opines this view?

(A) VKR.V.Rao
(B) IrawatiKarve
(©) G.S.Ghurye

(D) R.N.Sharma

What type of research design you will
employ to study the assessment of the role of

corporate social responsibility on consumer

behaviour in an industry.

(A)  Exploratory

(B)  Descriptive

(C)  Analytical

(D)  Experimental

Ghurye has given______ divisions of caste-

race relation in Hindu population in Indian

Society.

A 3

B 4

© 5

D) 6

Which of the following is not a qualitative
research method?

(A) ParticipantObservation

(B) In-depthInterview

(C)  FocusInterview groups

(D)  Questionnaire

For a Nominal variable, the best measure of
central tendency would be -

(A) Mean

(B) Median

(C) Mode

(D) Noneofthese
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